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R’DL‘ i — The brass strip AB has been attached to a bhxed support at A and rests on
I@pﬁ) a rough support at B, Knowing that the coellicient of friction is 0.60 between the
;rr:p amd the support at B, determine the decrease in temperature for whach
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1y by

A ﬁ%'\ﬁ
Sk it .'II
i -\-\-\-\-\-

Brass strip:
E = 15 5P
o = 20 x L0740
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- 5, Pﬂb 2 — A circular shaft A consists of a 250-mun-long, 20-mm-

[_ Z@;J\J} diameter steel cylinder, in which a 125-mm-long, 16-mm-diam-

) eter cavity has been drilled from end B, The shaft is attached
to fixed supports at both ends, and a 120-N - m torgque is ap-
plied at its midsection (Fig.fb2). Determine the torque ex-
erted on the shaft by each of the supports.
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é;'_\" Prﬂlb?)_ A Dar obtained by bonding together pieces of steel
e (E, = 200 GPa)und Lrass (£, = 100 CPa) Lus the cross seotion
shown (Fig. Peb 3, Determine the maximum stress in the steel

and in the brass when the bar is in pure bending with a bending "
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ﬁ,j B"’b* 4“*& thin plate of 2-mm thickness is bent as shown and then used as a
7) beam. For a vertical shear of 4 kN, determine the shearing stress at the &, b points
indicated and sketch the shear flow in the cross section,
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P)ozg,ﬁ"-ﬁ cylindrical storage tank used to transport gas under pressure has an inside

diameter of 600 mun-and a wall thickoess of 20 min. Strain gages attached (o the

(M} surface of the tank in transverse and longitudinul directions indleate strains of

255 pand 60 p respectively, Knowing that a tarsion test has shown that the modu-

lus of rigidity of the material used iu the tank is G = 50 GPa, determine (o) the

gage pressure inside the tank, (b) the principal stresses and the maximuin shearing
stress in the wall of the tauk.
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